o HMVIIE
— DHE 6= 55129-139 1
— DHZE 785 55159-170 01




R

A /AL, VR RCR

* linear search ]I 8] & 4% & 7& O(N)
binary search B [8] & J% £ /& 0(logN)
B 22 SR DHEE129-139 T [ FRAR, KRR
F& QA B AR X A ) 1 )




N

AL FHIERIRCR

* linear search ]I 8] & 4% & 7& O(N)
bmary search I} (8] 5 24 5 =2 O(logN)
B LR A RADHEE129-139 71 OFRMR, RIR AR
& QA B AR X A ) 1 )

o JCHH AT
— X T ANE TN, B TR] A [R] R 2
— THI R B A7
— big-O/& 4 EE?



A i1, BEYERIRUR @

« MEE, BIRANIEEZRENO1)Hsearch?




A i1, BEYERIRUR @

o U] H fEbig-ON &M ?
a2k R ? D




A i1, BEYERIRUR @

o VR<=/rMTrinsertion sortHJ i [a] &5 44 i, 2

N

6 5 3 1 8 7 2 4



A i1, BEYERIRUR @

o VR<=/rMTrinsertion sortHJ i [a] &5 44 i, 2

i1
while i < length(A)
) o A
while j > 0 and A[]-1] > A[]]
swap A[j] and A[j-1]
Je< 3 -1
end while
i< 1i+1
end while

N



A i1, BEYERIRUR @

o RZ=HTrmerge sort I [A] & 4% BE L, 2

6 5 3 1 8 7 2 4



(4

A i1, BEYERIRUR @

o IR Hrmerge sorti ] (8] & 4% 50, ?

function merge sort(list m)
// Base case. A list of zero or one elements is sorted, by definition.

if length of m = 1 then
return m

// Recursive case. First, divide the list into equal-sized sublists
// consisting of the first half and second half of the list.
// This assumes lists start at index 0.
var left := empty list
var right := empty list
for each x with index i in m do
if i < (length of m)/2 then
add x to left
else
add x to right

// Recursively sort both sublists.
left := merge sort(left)
right := merge sort(right)

// Then merge the now-sorted sublists.
return merge(left, right)
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function merge(left, right)
var result := empty list

while left is not empty and right is not empty do
if first(left) = first(right) then
append first(left) to result

left := rest(left)

else
append first(right) to result
right := rest(right)

// Either left or right may have elements left; consume them.

// (Only one of the following loops will actually be entered.)
while left is not empty do
append first(left) to result
left := rest(left)
while right is not empty do
append first(right) to result
right := rest(right)
return result
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